Blirts and Gorks	HL058 scoring rubric


Math Domain


�
(�
Number/Quantity�
�
Shape/Space�
�
Function/Pattern�
�
�
�
�
�
�
�
�
�
�
�
Chance/Data�
�
Arrangement�
�
�
�
Math Actions (possible weights: 0 through 4)


�
3�
Modeling/Formulating�
2�
Manipulating/Transforming�
�
�
�
�
�
�
�
�
2�
Inferring/Drawing Conclusions�
2�
Communicating�
�
Math Big Ideas


�
�
Scale�
�
Reference Frame�
(�
Representation�
�
�
�
�
�
�
�
�
�
�
�
Continuity�
�
Boundedness�
�
Invariance/Symmetry�
�
�
�
�
�
�
�
�
�
�
(�
Equivalence�
�
General/Particular�
�
Contradiction�
�
�
�
�
�
�
�
�
�
�
�
Use of Limits�
�
Approximation�
�
Other�
�
�
�
�
�
�
�
�
�
Let L be the length of the rectangle in blirts and W the width in blirts. The perimeter is then


P = 2(L + W) blirts and the area is A = LW square blirts. If x equals the number of gorks in a 


blirt, then the perimeter in gorks is 2x(L + W) or 2(xL + xW) gorks, and the area in gorks is 


(xL)(xW) or x�EMBED Equation.3���LW square gorks. Substituting the given values, P�EMBED Equation.3��� = 2x(4+1) = 10x and 


A�EMBED Equation.3��� = x�EMBED Equation.3���(4)(1) = 4x�EMBED Equation.3���.


Since we require that P�EMBED Equation.3��� = A�EMBED Equation.3��� numerically, then 10x =4x�EMBED Equation.3��� and x =�EMBED Equation.3���, so there are �EMBED Equation.3��� gorks in a blirt.


Therefore, the length of the given rectangle is 10 gorks, and the width is �EMBED Equation.3��� gorks. The perimeter of the rectangle is 2(10 + �EMBED Equation.3���) or 25 gorks, and the area of the rectangle is (10)(�EMBED Equation.3���) or 25 square gorks.


�
partial level�
full level�
�
Modeling/�Formulating


(weight: 3)�
Recognize which unit is larger.





Obtain a relationship in some way (e.g. trial and error).�
Set up an equation and formally define one unit as a multiple of the other.�
�
Transforming/�Manipulating


(weight: 2)�
Calculate perimeter and area through trial and error.�
Solve for the ratio of size of the units.�
�
Inferring/�Drawing Conclusions


(weight: 2)�
Realize which unit is larger, and which is smaller.�
Realize the uniqueness of the solution.�
�
Communicating


(weight: 2)�
Make only a diagram.�
Use clear prose to interpret the results in appropriate units and to give a direct answer to the original question.�
�
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